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Algebra Einfache lineare Gleichungen - Lösungen ©2007 Lernen mit Spaß® 

Lösungen zu einfache lineare Gleichungen: 

 

  Übungen: a) 2324113 x  

    b) 8,015,475,2   

    c) 
8

5

4
5 

a
 

    d) 5324   

 

 

 
 
zu a) 

     2324113 x    | 41  
         41232414113 x  

             27313 x    | 13  
       132731313 x  
                21x  
                }21{L  

 
 
zu b) 
          8,015,475,2    | 15,4  

            15,48,015,415,475,2    

            8,04,1     | )8,0(  

             )8,0(8,0)8,0(4,1    

            75,1  

                }75,1{L  

 
 
zu c) 

           
8

5

4
5 

a
   | 5  

       5
8

5
5

4
5 

a
 

        

8

45

4


a
   | 4  

              4
8

45
4

4


a
 

         

2

45
a  

   oder     5,22a  

         }5,22{L  
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zu d)  
     5324     | 24  
        24524324   

         193     | )3(  

           )3(19)3(3   

       57  

        }57{L  


